

Complete Solutions Manual

Finite Mathematics & Applied Calculus

SIXTH EDITION

Stefan Waner

Hofstra University

Steven R. Costenoble

Hofstra University

Table of Contents

Chapter 0 – Precalculus Review	1
Chapter 1 – Functions and Applications	17
Chapter 2 – The Mathematics of Finance	121
Chapter 3 – Systems of Linear Equations and Matrices	172
Chapter 4 – Matrix Algebra and Applications	266
Chapter 5 – Linear Programming	367
Chapter 6 – Sets and Counting	579
Chapter 7 – Probability	632
Chapter 8 – Random Variables and Statistics	734
Chapter 9 – Nonlinear Functions and Models	827
Chapter 10 – Introduction to the Derivative	883
Chapter 11 – Techniques of Differentiation with Applications	962
Chapter 12 – Further Applications of the Derivative	1048
Chapter 13 – The Integral	1167
Chapter 14 – Further Integration Techniques and Applications of the Integral	1233
Chapter 15 – Functions of Several Variables	1337
Chapter 16 – Trigonometric Models	1406

Solutions Section 0.1

Section 0.1

$$\begin{aligned} 1. & 2(4 + (-1))(2 \cdot -4) \\ &= 2(3)(-8) = (6)(-8) = -48 \end{aligned}$$

$$\begin{aligned} 2. & 3 + ([4 - 2] \cdot 9) \\ &= 3 + (2 \times 9) = 3 + 18 = 21 \end{aligned}$$

$$\begin{aligned} 3. & 20 / (3 \cdot 4) - 1 \\ &= \frac{20}{12} - 1 = \frac{5}{3} - 1 = \frac{2}{3} \end{aligned}$$

$$\begin{aligned} 4. & 2 - (3 \cdot 4) / 10 \\ &= 2 - \frac{12}{10} = 2 - \frac{6}{5} = \frac{4}{5} \end{aligned}$$

$$\begin{aligned} 5. & \frac{3 + ([3 + (-5)])}{3 - 2 \times 2} = \frac{3 + (-2)}{3 - 4} \\ &= \frac{1}{-1} = -1 \end{aligned}$$

$$\begin{aligned} 6. & \frac{12 - (1 - 4)}{2(5 - 1) \cdot 2 - 1} = \frac{12 - (-3)}{16 - 1} \\ &= \frac{15}{15} = 1 \end{aligned}$$

$$\begin{aligned} 7. & (2 - 5 \cdot (-1)) / 1 - 2 \cdot (-1) \\ &= \frac{2 - 5 \cdot (-1)}{1} - 2 \cdot (-1) \\ &= \frac{2+5}{1} + 2 = 7 + 2 = 9 \end{aligned}$$

$$\begin{aligned} 8. & 2 - 5 \cdot (-1) / (1 - 2 \cdot (-1)) \\ &= 2 - \frac{5 \cdot (-1)}{1 - 2 \cdot (-1)} \\ &= 2 - \frac{-5}{1 + 2} = 2 + \frac{5}{3} = \frac{11}{3} \end{aligned}$$

$$9. 2 \cdot (-1)^2 / 2 = \frac{2 \times (-1)^2}{2} = \frac{2 \times 1}{2} = \frac{2}{2} = 1$$

$$10. 2 + 4 \cdot 3^2 = 2 + 4 \times 9 = 2 + 36 = 38$$

$$11. 2 \cdot 4^2 + 1 = 2 \times 16 + 1 = 32 + 1 = 33$$

$$\begin{aligned} 12. & 1 - 3 \cdot (-2)^2 \times 2 = 1 - 3 \times 4 \times 2 \\ &= 1 - 24 = -23 \end{aligned}$$

$$\begin{aligned} 13. & 3^2 + 2^2 + 1 \\ &= 3^2 + 2^2 + 1 = 9 + 4 + 1 = 14 \end{aligned}$$

$$14. 2^{\wedge}(2^{\wedge}2-2) = 2^{(2^2-2)} = 2^{4-2} = 2^2 = 4$$

$$\begin{aligned} 15. & \frac{3 - 2(-3)^2}{-6(4 - 1)^2} = \frac{3 - 2 \times 9}{-6(3)^2} = \frac{3 - 18}{6 \times 9} \\ &= \frac{-15}{54} = \frac{5}{18} \end{aligned}$$

$$\begin{aligned} 16. & \frac{1 - 2(1 - 4)^2}{2(5 - 1)^2 \cdot 2} = \frac{1 - 2(-3)^2}{2(4)^2 \cdot 2} = \frac{1 - 2 \times 9}{2 \times 16 \times 2} \\ &= \frac{1 - 18}{64} = -\frac{17}{64} \end{aligned}$$

$$\begin{aligned} 17. & 10 \cdot (1 + 1/10)^{\wedge}3 \\ &= 10 \left(1 + \frac{1}{10}\right)^3 = 10(1.1)^3 \\ &= 10 \times 1.331 = 13.31 \end{aligned}$$

$$\begin{aligned} 18. & 121 / (1 + 1/10)^{\wedge}2 \\ &= \frac{121}{\left(1 + \frac{1}{10}\right)^2} = \frac{121}{1.1^2} = \frac{121}{1.21} = 100 \end{aligned}$$

$$\begin{aligned} 19. & 3 \left[\frac{-2 \cdot 3^2}{-(4 - 1)^2} \right] = 3 \left[\frac{-2 \times 9}{-3^2} \right] = 3 \left[\frac{-18}{-9} \right] \\ &= 3 \times 2 = 6 \end{aligned}$$

$$\begin{aligned} 20. & - \left[\frac{8(1 - 4)^2}{-9(5 - 1)^2} \right] = - \left[\frac{8(-3)^2}{-9(4)^2} \right] \\ &= - \left[\frac{8 \times 9}{-9 \times 16} \right] = - \left(\frac{72}{-144} \right) = - \left(-\frac{1}{2} \right) = \frac{1}{2} \end{aligned}$$

$$\begin{aligned} 21. & 3 \left[1 - \left(-\frac{1}{2} \right)^2 \right]^2 + 1 = 3 \left[1 - \frac{1}{4} \right]^2 + 1 \\ &= 3 \left[\frac{3}{4} \right]^2 = 3 \left[\frac{9}{16} \right] + 1 = \frac{27}{16} + 1 = \frac{43}{16} \end{aligned}$$

$$\begin{aligned} 22. & 3 \left[\frac{1}{9} - \left(\frac{2}{3} \right)^2 \right]^2 + 1 = 3 \left[\frac{1}{9} - \frac{4}{9} \right]^2 + 1 \\ &= 3 \left[\frac{-3}{9} \right]^2 + 1 = 3 \left[\frac{-1}{3} \right]^2 + 1 \\ &= 3 \left[\frac{1}{9} \right] + 1 = \frac{3}{9} + 1 = \frac{4}{3} \end{aligned}$$

$$23. (1/2)^{\wedge}2 - 1/2^{\wedge}2$$

Solutions Section 0.1

$$= \left[\frac{1}{2}\right]^2 - \frac{1}{2^2} = \frac{1}{4} - \frac{1}{4} = 0$$

$$\begin{aligned} 24. & 2 / (1^2) - (2/1)^2 \\ &= \frac{2}{1^2} - \left[\frac{2}{1}\right]^2 = \frac{2}{1} - \frac{4}{1} = -2 \end{aligned}$$

$$25. 3 \times (2-5) = 3 * (2-5)$$

$$26. 4 + \frac{5}{9} = 4 + 5/9 \text{ or } 4 + (5/9)$$

$$27. \frac{3}{2-5} = 3 / (2-5)$$

Note $3/2-5$ is wrong, since it corresponds to $\frac{3}{2} - 5$.

$$28. \frac{4-1}{3} = (4-1) / 3$$

$$29. \frac{3-1}{8+6} = (3-1) / (8+6)$$

Note $3-1/8-6$ is wrong, since it corresponds to $3 - \frac{1}{8} - 6$.

$$30. 3 + \frac{3}{2-9} = 3 + 3 / (2-9)$$

$$31. 3 - \frac{4+7}{8} = 3 - (4+7) / 8$$

$$32. \frac{4 \times 2}{\left[\frac{2}{3}\right]} = 4 * 2 / (2/3) \text{ or } (4 * 2) / (2/3)$$

$$33. \frac{2}{3+x} - xy^2 = 2 / (3+x) - x * y^2$$

$$34. 3 + \frac{3+x}{xy} = 3 + (3+x) / (x * y)$$

$$\begin{aligned} 35. & 3.1x^3 - 4x^{-2} - \frac{60}{x^2-1} \\ &= 3.1x^3 - 4x^{(-2)} - 60 / (x^2-1) \end{aligned}$$

$$\begin{aligned} 36. & 2.1x^{-3} - x^{-1} + \frac{x^2-3}{2} \\ &= 2.1x^{(-3)} - x^{(-1)} + (x^2-3) / 2 \end{aligned}$$

$$37. \frac{\left[\frac{2}{3}\right]}{5} = (2/3) / 5$$

Note that we use only (round) parentheses in technology formulas, and not brackets.

$$38. \frac{2}{\left[\frac{3}{5}\right]} = 2 / (3/5)$$

$$39. 3^{4-5} \times 6 = 3^{(4-5)} * 6$$

Note that the entire exponent is in parentheses.

$$40. \frac{2}{3+5^{7-9}} = 2 / (3+5^{(7-9)})$$

$$41. 3 \left[1 + \frac{4}{100} \right]^{-3} = 3 * (1 + 4/100)^{(-3)}$$

Note that we use only (round) parentheses in technology formulas, and not brackets.

$$42. 3 \left[\frac{1+4}{100} \right]^{-3} = 3 * ((1+4) / 100)^{(-3)}$$

$$43. 3^{2x-1} + 4^x - 1 = 3^{(2*x-1)} + 4^x - 1$$

Note that the entire exponent of 3 is in parentheses.

$$44. 2^{x^2} - (2^x)^2 = 2^{(x^2)} - (2^{(2*x)})^2$$

$$45. 2^{2x^2-x+1} = 2^{(2x^2-x+1)}$$

Note that the entire exponent is in parentheses.

$$46. 2^{2x^2-x} + 1 = 2^{(2x^2-x)} + 1$$

$$\begin{aligned} 47. & \frac{4e^{-2x}}{2-3e^{-2x}} = 4 * e^{(-2*x)} / (2-3e^{(-2*x)}) \\ & \text{or } 4(*e^{(-2*x)}) / (2-3e^{(-2*x)}) \\ & \text{or } (4*e^{(-2*x)}) / (2-3e^{(-2*x)}) \end{aligned}$$

$$\begin{aligned} 48. & \frac{e^{2x} + e^{-2x}}{e^{2x} - e^{-2x}} \\ &= (e^{(2*x)} + e^{(-2*x)}) / (e^{(2*x)} - e^{(-2*x)}) \end{aligned}$$

$$49. 3 \left[1 - \left(-\frac{1}{2} \right)^2 \right]^2 + 1 = 3 (1 - (-1/2)^2)^2 + 1$$

Note that we use only (round) parentheses in technology formulas, and not brackets.